PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA

ITEM/NO D'ARTICLE / ARTICULO.: S786-045A
S§786-045B

DESCRIPTION/ DESCRIPCION : Gentlemens Chest Deck/ Partie supérieure de commode/ Parte superior de Cémoda
Gentlemens Chest Base/ Base de Commode/ Base de Cé6moda

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

= ALWAYS install tipover restraint
provided,

= MEVER put a TV on this product.
= MEVER allow children to stand,

climb or hang on drawers, doors,
or shelves.
« NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

x1Gentiemens Chest Deck- 045A
x1 Partie supérieure de commode
x1 Parte superior de Cémoda

=
o

x2 Metal Plate 84*32*2mm *
x2 Plaque de métal 84*32*2mm
X2 Placa de metal 84*32*2mm

=

P

x4 Flat washer @5/16"*19*2mm
x4 Rondelle plate @5/16™19*2mm
x4 Arandela plana @5/16™19*2mm

*

.

x1 Gentlemens Chest Base - 0458
x1 Base de Commode
x1 Base de Cémoda

x4 Flat washer @5/16™19mm sk
x4 Rondelle plate @5/16"*19mm
x4 Arandela plana 95/16"*19mm

‘e

x1 Allen key M4 3¢
x1 Clé hexagonale
x1 Llave Allen

X2 Fumiture Tipping Restraint 3K
X2 Systéme antibasculement
X2 Control para evitar vuelcos

=

x4 Lock washer @5/16™13*2mm E
x4 Rondelle de blocage @5/16™13*2mm
x4 Arandela de Seguridad @5/16"13*2mm

*%k Replaceable Part

Page 1 0f3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE
ITEM/NO D'ARTICLE / ARTICULO.: S786-045A

DESCRIPTION/ DESCRIPCION :

S786-045B
Gentlemens Chest Deck/ Partie supérieure de commode/ Parte superior de Cémoda
Gentlemens Chest Base/ Base de Commode/ Base de Cémoda

® @

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

= ALWAYS install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
* NEVER open more than one
drawer at a time.
= Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

STEP 1
ETAPE 1
PASO 1

Y
B/
Y\\\\\;\E?\\\§§§;?“

STEP 2
ETAPE 2
PASO 2

Furniture Tipping Restraint
Systéme antibasculement
Control para evitar vuelcos

STEP 3
ETAPE 3

Adjustable leveler
Patin réglable
Nivelador adjustable

*%k Replaceable Part

Page 2 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM/NO D'ARTICLE / ARTICULO.: S786-045A
S786-045B
DESCRIPTION/ DESCRIPCION : Gentlemens Chest Deck/ Partie supérieure de commode/ Parte superior de Cémoda
Gentlemens Chest Base/ Base de Commode/ Base de Cé6moda

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

= ALWAYS install tipover restraint

[ —

pravided, _
@ - NEVER put a TV on this product O e ¥ e gt ¥ RSO MGATE Motz 3¢
; F . + " Systel tib: I nt
- NEVER allow children to stand, e Tomle Control s v visos Pl do ol 8452
climb or hang on drawers, doors,
or shelves.
* NEVER open more than one
drawer at a time._
= Place heaviest items in the [3000 000 000 0000p]
lowest drawers.
This is a permanent label.
Dﬁ_ r H._U.__ refmove .1 x1 mwﬂmm.gm.ﬂﬁhﬂmum“ﬂﬁnw_ﬂ_—w:o&__mm* x12 COMGLIDE12-35 - W_Biwq Glide sk x4 RC-WH-NAIL- White Plastic nail *
issiere
Lista del kit de materiales Deslizamiento del cajén m““omuuuwwumuu
x1 RC-FG-WHITE-White leveler v—n
Patin ré glable
Nivelador
*%k Replaceable Part
Page 3 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietham

For further assembly information, please go to www. myfurnitureinstructions.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA

ITEM / NO D'ARTICLE / ARTICULO.: S786-910
DESCRIPTION / DESCRIPCION : Desk/ Bureau/ Mesa de tocador

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAYS install tipover restraint
provided,

= MEVER put a TV on this product.
= MEVER allow children to stand,

climb or hang on drawers, doors, x1 Table panel x1 Table Legs Right ¥ X1 Table Legs Lef *
or shelves. x1 Téte de it x1 Pattes de la téte de lit droite x1 Pattes de la téte de lit gauche
x1 Cabecera x1 Patas de cabecera derecha x1 Patas de cabecera izquierda

« NEVER open more than one
drawer at a time.

* Place haaviest items in tha
lowest drawers.
This is a permanent label.
Do not remove! ‘ ‘

x1 Bottom Rall * x1 Fumniture Tipping Restraint * x12 Allen bolt @5/16"* 40mm *
x1 Traverse Inférieura x1 Systéma antlbasculement x12 Vis 2 téte creuse hexagonale @5/16™ 40mm
x1 Travesafio Inferior X1 Gontrol para evitar vuelcos x12 Pemo Allen @5/16™ 40mm

=

e

[y
@

@

x12 Lock Washer @5/16"*14*2mm %k x12 Flat Washer @5/16™19"2mm 3k x1 Allenkey M4 3k
x12 Rondelle de blocage @5/16™14*2mm x12 Rondelle Plate @5/16"*19*2mm x1 Clé hexagonale
x12 Arandela de Seguridad @5/16™14*2mm x12 Arandela Plana @5/16"*19*2mm x1 Liave Allen
*%k Replaceable Part
Page 1 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietham

For further assembly information, please go to www. myfurnitureinstructions.com



ITEM/NO D'ARTICLE / ARTICULO.: S786-910

>wmm§w_.<_zm._._ﬂcn._._oz\zO._._Om_um_<_Oz._.>0m:z._._ﬂcoo_ozmmUm_st._.>._m
DESCRIPTION / DESCRIPCION : Desk/ Bureau/ Mesa de tocador

Children have died from . STEP 1
furniture tipover. To reduce the ETAPE 1
risk of furniture tipover: PASO 1

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.
= MEVER allow children to stand,

climb or hang on drawers, doors,

or shelves.
« NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.
This is a permanent label.
Do not remove!

ETAPE 2

Furniture Tipping Restraint
Systéme antibasculement

\” Control para evitar vuelcos
‘ STEP 3

ETAPE 3

>k Replaceable Part

Page 2 of 3 Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM/NO D'ARTICLE / ARTICULO.: S786-910

DESCRIPTION / DESCRIPCION : Desk/ Bureau/ Mesa de tocador

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,

or shelves.
« NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.
This is a permanent label.
Do not remove!

(g

x4 RS786-010-KNOB-Knob with Screw
Polgnée + Vis
Tirador + Tomillo

x1 R87868-910-RAIL- Bottom Rail *
Traverse inférieure
Travesaio inferior

%

[Z'000 000 000 000 0D]

X3 COMGLIDE12-35 - Drawer Glide E 3
Glissidre
Deslizamlento del cajén

x4 RC-WH-NAIL- White Plastic nail *
clou an plastiqua
clavo de pldstico

x1 R8786-910-LEGR-Table Legs Right *
Pattes de la téte de lit drolte
Patas de cabecera derecha

x1 R8786-910-HWKIT-Hardware kit list
Liste des pléces de quincallles
Lista del kit de materiales

x1 RC-ANTI-TIP-Furniture Tipping Restraint
Systéme antibasculement
Control para evitar vuelcos

x1 R8786-810-LEGL-Table Legs Left *
Pattes de la téte de lit gauche
Patas de cabecera Izqulerda

*%k Replaceable Part

Page 3 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfumitureinstructions.com

*

*



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA
ITEM/NO D'ARTICLE / ARTICULO.: S786-142A

8786-142B

DESCRIPTION / DESCRIPCION : Credenza Hutch/Crédence huche/Aparador credenza

Credenza Base/Base de crédence/Base de credenza

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

= ALWAYS install tipover restraint
provided,

= MEVER put a TV on this product.
= MEVER allow children to stand,

climb or hang on drawers, doors,
or shelves.
« NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

x1 Credenza Base
x1 Base de crédence
x1 Base de credenza

x1 Credenza Hutch
x1 Crédence huche
x1 Aparador credenza

x4 Lock washer @5/16™13*2mm
x4 Rondelle de blocage @5/16™13*2mm

x4 Flat washer @5/16"*19mmsk
x4 Rondelle plate @5/16™19mm
x4 Arandela plana @5/16™19*2mm

*

x4 Arandela de Seguridad @5/16"*13*2mm

N—

x1 Fumiture Tipping Restraint K
x1 Systéme antibasculement
x1 Control para evitar vuelcos

N—
‘
X2 Metal Plate 84*32*2mm

x2 Plaque de métal 84*32*2mm
x2 Placa de metal 84°32"2mm

&P

x4 Flat Washer @5/16"*19*2mm
x4 Rondelle Plate 25/16"*19*2mm
X4 Arandela Plana 25/16"*19*2mm

W
o

x1Allen key M4 3K
x1 Clé hexagonale
x1 Llave Allen

*

*%k Replaceable Part

Page 1 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com

*



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE
ITEM/NO D'ARTICLE / ARTICULO.: S786-142A
S786-142B
DESCRIPTION / DESCRIPCION : Credenza Hutch/Crédence huche/Aparador credenza
Credenza Base/Base de crédence/Base de credenza

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,

or shelves.

* NEVER open more than one

drawer at a time.

* Place haaviest items in tha
A

STEP 1 STEP 2

ETAPE 1 ETAPE 2
PASO 1 PASO 2

NN RN

NN

lowest drawers.
This is a permanent label.
Do not remove! ~

A"
STEP 3 N A
ETAPE 3 i Pl
PASO 3 \ .
. 2
Zhz
2
-
Furniture Tipping Restraint
Systéme m::cmmoc_m:._m:, Adjustable leveler
Control para evitar vuelcos Patin réglable
Nivelador adjustable

*%k Replaceable Part

Page 2 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM /NO D'ARTICLE / ARTICULO.: S786-142A

8786-142B

DESCRIPTION / DESCRIPCION : Credenza Hutch/Crédence huche/Aparador credenza

Credenza Base/Base de crédence/Base de credenza

® @

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

= ALWAYS install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
* NEVER open more than one
drawer at a time.
= Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

() )

x3 R8786-010-KNOB-Knob with Screw *
Polgnée + Vis
Tirador + Tomillo

&

x1 RC-ANTI-TIP-Furniture Tipping Restraint *

Systéme antibasculement
Control para evitar vuelcos

X2 RC-WH-NAIL- White Plastic nail *
clou en plastique
clavo de plastico

x2 RS786-142-PLATE-Metal Plate 84*32*2mm *
Plaque de métal 84*32*2mm
Placa de metal 84*32*2mm

X8 RS786-142-PIN-Shefl pin

x3 RS786-142-CATCH-Door Catch

x1 RS786-142-HWKIT Hardware kit list *
Liste des pidces de quincailles
Lista del kit de materiales

x2 RC-FG-WHITE-White leveler *
Patin ré glable
Nivelador

f
[o] =
m"

x6 RS786-142-HINGE-Door Hinge *
Bisagra de la puerta
Charmigre de porte

*%k Replaceable Part

Page 3 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA
ITEM/NO D'ARTICLE / ARTICULO.: S786-934A

DESCRIPTION / DESCRIPCION :

S786-934B
Bookcase Hutch/Huche bibliothéque/Aparador de estanteria
Bookcase Base/Base de bibliothéque/Base de estanteria

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAY'S install tipover restraint
provided,

= MEVER allow children to stand,

climb or hang on drawers, doors,
or shelves.
* NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

= MEVER put a TV on this product.

ZR

"n
<
>

A

V;

x1 Credenza Hutch
x1 Crédence huche
x1 Aparador credenza

x1 Credenza Base
x1 Base de crédence
x1 Base de credenza

x4 Lock washer @5/16™13*2mm
x4 Rondelle de blocage @5/16™13*2mm

x4 Flat washer @5/16"19mm 3%
x4 Rondelle plate @5/16™19mm
x4 Arandela plana @5/16™19*2mm

*

x4 Arandela de Seguridad @5/16"*13*2mm

x1 Fumiture Tipping Restraint K
x1 Systéme antibasculement
x1 Control para evitar vuelcos

x2 Metal Plate 84*32*2mm
x2 Plaque de métal 84*32*2mm
x2 Placa de metal 84°32"2mm

&P

x4 Flat Washer @5/16"*19*2mm
x4 Rondelle Plate 25/16"*19*2mm
X4 Arandela Plana 25/16"*19*2mm

W
o

x1Allen key M4 3K
x1 Clé hexagonale
x1 Llave Allen

*

*%k Replaceable Part

Page 1 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com

*



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE

ITEM/N

O D'ARTICLE / ARTICULO.: S786-934A
8786-934B

DESCRIPTION / DESCRIPCION : Bookcase Hutch/Huche bibliothéque/Aparador de estanteria
Bookcase Base/Base de bibliothéque/Base de estanteria

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

= ALWAYS install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,

This is a permanent label.
Do not remove!

en more than one

Furniture Tipping Restraint
Systéme antibasculement
Control para evitar vuelcos

or shelves.

* NEVER op

drawer at a time.

* Place haaviest items in tha
lowest drawers.

»

STEP 3

ETAPE 3
PASO 3

Adjustable leveler
Patin réglable

Nivelador adjustable

STEP 1
ETAPE 1

ETAPE 2
PASO 2

*%k Replaceable Part

Page 2 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM /NO D'ARTICLE / ARTICULO.: S786-934A

DESCRIPTION / DESCRIPCION : Bookcase Hutch/Huche bibliothéque/Aparador de estanteria
Bookcase Base/Base de bibliothéque/Base de estanteria

8786-934B

® @

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:
= ALWAYS install tipover restraint
provided,
= MEVER put a TV on this product.
= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
* NEVER open more than one
drawer at a time.
= Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

() )

x2 RS8786-010-KNOB-Knob with Screw *
Polgnée + Vis
Tirador + Tomillo

&

x1 RC-ANTI-TIP-Furniture Tipping Restraint *

Systéme antibasculement
Control para evitar vuelcos

X2 RC-WH-NAIL- White Plastic nail *
clou en plastique
clavo de plastico

x2 RS786-934-PLATE-Metal Plate 84*32*2mm *
Plaque de métal 84*32*2mm
Placa de metal 84*32*2mm

.

X4 RS786-934-PIN-Shefl pin E
Batterie d'étageére
Baterla de estanteria

x1 RS786-934-HWKIT Hardware kit list *
Liste des pidces de quincailles
Lista del kit de materiales

x2 RC-FG-WHITE-White leveler *
Patin ré glable
Nivelador

f
[o] =
m"

x4 RS786-834-HINGE-Door Hinge *
Bisagra de la puerta
Charmigre de porte

x2 RS786-934-CATCH-Door Catch *
Pestlllo de la puerta
Loquet de porte

*%k Replaceable Part

Page 3 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA

ITEM/NO D'ARTICLE / ARTICULO.: 8786-050

DESCRIPTION/ DESCRIPCION : Nightstand / Table de chevet/Mesa de noche

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:
« ALWAYS install tipover restraint
provided,
= MEVER put a TV on this product.
= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
« NEVER open more than one
drawer at a time.
= Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

//
N
L~
x1 Nightstand

x1 Table de chevet x1 Fumiture Tipping Restraint
x1 Mesa de noche x1 Systéme antibasculement
x1 Control para evitar vuelcos

*%k Replaceable Part

Page 1 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietham

For further assembly information, please go to www. myfumitureinstructions.com

*



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE

ITEM / NO D'ARTICLE / ARTICULO.: S786-050
DESCRIPTION/ DESCRIPCION : Nightstand / Table de chevet/Mesa de noche

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

= ALWAYS install tipover restraint

A

provided,
= MEVER put a TV on this product.
= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
« NEVER open more than one
drawer at a time.
= Place haaviest items in tha
lowest drawers.

This is a permanent label. S

Do not remove!

3

Furniture Tipping Restraint
Systéme antibasculement
Control para evitar vuelcos

*%k Replaceable Part

Page 2 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfumitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM/NO D'ARTICLE / ARTICULO.: 8786-050

DESCRIPTION/ DESCRIPCION : Nightstand / Table de chevet/Mesa de noche

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
« NEVER open more than one
drawer at a time.
= Place haaviest items in tha
lowest drawers.

This is a permanent label.

Lz

)

%2 RS786-010-KNOB-Knob with Screw 5k x4 RC-WH-NAIL- White Plastic nail E 3 x1 RC-ANTI-TIP-Fumniture Tipping Restraint 3K
Polgnée + Vis clou en plastique Systéme antlbasculement
Tirador + Tomillo clavo de plastico Control para avitar vuelcos

Do not remove!
[0 000 000 00 ooom)
x2 COMGLIDE10-35 - Drawer Glide %
Glissiére
x1 RS786 -050-USB-USBports 3K Deslizamiento del cajén
Prises USB
Conectores USB
©

_
=)

*%k Replaceable Part

Page 3 of 3

Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA

ITEM/NO D'ARTICLE / ARTICULO.: 8786-040

DESCRIPTION/ DESCRIPCION : Chest / Commode / COmoda

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,

or shelves.
* NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.
This is a permanent label.
Do not remove!

®
@

o s Ty
x1 Cémoda x1 Control para evitar vuelcos
*%k Replaceable Part
Page 1 0f3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfurnitureinstructions.com



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE

ITEM / NO D'ARTICLE / ARTICULO.: S786-040
DESCRIPTION/ DESCRIPCION : Chest / Commode / COmoda

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:
= ALWAYS install tipover restraint
provided,
= MEVER put a TV on this product.
= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
* NEVER open more than one
drawer at a time.
= Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

® @

Furniture Tipping Restraint
Systéme antibasculement
Control para evitar vuelcos

/4

/A

*%k Replaceable Part

Page 2 of 3 Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfumitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM/NO D'ARTICLE / ARTICULO.: 8786-040

DESCRIPTION/ DESCRIPCION : Chest / Commode / COmoda

®
@

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,
or shelves.
* NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.

This is a permanent label.

Do not remove!

()

x4 RC-WH-NAIL- White Plastic nail *
x10 RS786-010-KNOB-Knob with Screw * clou en plastique
Polgnée + Vis clavo de pléstico
Tirador + Tomillo
[Co00 000 000 000D
x1 RC-ANTI-TIP-Fumiture Tipping Restraint * x5 COMGLIDE12-35 - Drawer Giide *
Systéme antibasculement Glissiére

Control para evitar vuelcos Deslizamiento del cajén

*%k Replaceable Part

Page 3 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA
ITEM/NO D'ARTICLE / ARTICULO.: 8786-010

DESCRIPTION/ DESCRIPCION :

S§786-030
Dresser / Commode / Tocador
Mirror / Miroir / Espejo

Children have died from
furniture tipover. To reduce the
risk of furniture tipover: )

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,

or shelves.
« NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.
This is a permanent label.
Do not remove!

£

~
-

]
- ———

X2 Mirror Support *
x1 Dresser x1 Mirror X2 Prise en charge du mirolr
x1 Commode x1 Miroir X2 Soporte de espejo
x1 Tocador x1 Espelo

=)

x1 Fumiture Tipping Restraint % x8 Allen bolt @1/4 ™ 38mm * .y a4

x1 Systéme antibasculement x8 Vis a téte creuse hexagonale @1/4 "* 38mm mm __wMﬂMMwM ”quﬂhnh ._Qw H.H_ \_.NEE*
1 Control itar vuelcos e

I omie pam eviareiees X8 Pemo Allen @/1/4 ™ 38mm X8 Arandela de Seguridad 1/4™11*2mm

= —
3 ‘.

x8 Flat washer @1/4™19*2mm sk x1 Allen key M4 %k
x8 Rondslle plate @1/4™19*2mm x1 Clé hexagonale
x8 Arandela plana @1/4™19*2mm x1 Llave Allen

*%k Replaceable Part

Page 1 0f3

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

Residential Use Only
For further assembly information, please go to www. myfumitureinstructions.com



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE

ITEM/NO D'ARTICLE / ARTICULO.: S786-010
§786-030
DESCRIPTION/ DESCRIPCION : Dresser / Commode / Tocador
Mirror / Miroir / Espejo

Children have died from
furniture tipover. To reduce the
risk of furniture tipover:

« ALWAY'S install tipover restraint
provided,

= MEVER put a TV on this product.

= MEVER allow children to stand,
climb or hang on drawers, doors,

m or shelves.

* NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.

This is a permanent label.
Do not remove!

Furniture Tipping Restraint
I Systéme antibasculement
) Control para evitar vuelcos

@ 0
o . | J D
0 ¢
{ Adjustable leveler
Patin réglable
STEP 1 Nivelador adjustable

ETAPE 1
PASO 1

*%k Replaceable Part

Page 2 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM/NO D'ARTICLE / ARTICULO.: S786-010
S§786-030
DESCRIPTION/ DESCRIPCION : Dresser / Commode / Tocador
Mirror / Miroir / Espejo

Children have died from

furniture tipover. To reduce the @‘ —
risk of furniture tipover:

= ALWAYS install tipover restraint
provided,

- Hmﬂmm _u_“..___— a ._rH_M: this product. " * x1 wmqmo.omo.:ix_._..umnﬂma_m:_m.a * .
- Aallow children ._Hu n x14 RS786-010-KNOB-Knob with Screw X2 RC-FG-WHITE White leveler iste des piéces de quincailles
climb or hang on drawers, mmucﬂam__ e oo Rutiagaane ot del o mateiles

m or shelves.

* NEVER open more than one
drawer at a time.
* Place haaviest items in tha
lowest drawers.

This is a permanent label.

=
=

Do not remove!

x4 RC-WH-NAIL- White Plastic nail *
x1 RC-ANTI-TIP-Fumiture Tipping Restraint 5K clou en plastique x2 RS786-030-MISU- Miror Support 3§
Systdme antibasculement clavo de pléstico Supporte de miroir
Control para evitar vuelcos Soporte del espejo
_mooo 000 000 oooﬂ
x10 COMGLIDE12-35 - Drawer Glide *
Glissiére
Deslizamiento del cajén
©
o ©

.

*%k Replaceable Part

Page 3 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA

ITEM / NO D'ARTICLE / ARTICULO.: S786-272/271/400

DESCRIPTION / DESCRIPCION : Headboard / Téte de lit / Cabecera
Footboard / Pied de lit / Pie de cama
Side Rails / Cotés de lit / Largueros laterales

7

x1 Headboard x2 Headboard Legs (Left & Right) 3k x1 Footboard x2 Side Rails
x1 Téte de lit X2 Pattes de la téte de lit (gauche et droite) x1 Pied de lit x2 Cotés de lit
x1 Cabecera x2 Patas de cabecera (izquierda y derecha) x1 Pie de cama x2 Largueros laterales

R
@

o

X5Slats x10 SupportLegs 3k X6 Allenbolt @516+ 2 K x14 Lock washer @5/16™13*2mm sk
x5 Lattes x10 Pattes de support x8 Vis a téte creuse hexagonale @5/16 * 2" x14 Rondelle de blocage 25/16 :..u*mss
x5 Listones x10 Patas de soporte X6 Perno Allen @5/16 * 2" x14 Arandela de Seguridad @5/16™13*2mm

@
®

.
¥/
d

x14 Flat washer @5/16™19"2mm K x8 Hanger bolt @5/16™3-1/2" 3K x1 Allen key M4 % X8 Hex nut 12*12*6mm 3K
x14 Rondelle plate @5/16™19*2mm x8 Boulon-vis @5/16"3-1/2" x1 Clé hexagonale x8 Ecrou hexagonal 12*12*6mm
x14 Arandela plana @5/16™19*2mm x8 Perno de suspension @5/16"3-1/2" x1 Llave Allen x8 Tuerca hexagona 2*12*6mm

o/
1

x1 Openwrench 12mm 3K x10 Wood Screw #8*30mm %k
x1 Clé a fourche 12mm x10 Vis 2 bois #8*30mm
x1 Llave de boca 12mm x10 Tomillo para madera #8*30mm
*%k Replaceable Part
Page 1 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE
ITEM / NO D'ARTICLE / ARTICULO.: S786-272/271/400

DESCRIPTION / DESCRIPCION : Panel Headboard / Téte de lit / Cabecera

Footboard / Pied de lit / Pie de cama

Side Rails / Cotés de lit / Largueros laterales

Left Leg
Patte de gauche
Pata izquierda w

Touch me

he touch switch allows the light to turn on
Le commutateur tactile allume la lampe . m._.m_u 2
au premier contact ETAPE 2

El interruptor tactil permite encender la luz

PASO 2

w_mnﬁ _msn o Touch me
al e droll . .
Pata derech The touch switch allows the light to turn on "\
i ? Le commutateur tactile allume la lampe A
m au premier contact
El interruptor téctil permite encender la luz
STEP 1
ETAPE 1
PASO 1 STEP 3
ETAPE 3
PASO 3 i
ETAPE 4
F PASO 4
*%k Replaceable Part
Page 2 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfumitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

ITEM /NO D'ARTICLE / ARTICULO.: S786-272/271/400

DESCRIPTION / DESCRIPCION : Panel Headboard / Téte de lit / Cabecera
Footboard / Pied de lit / Pie de cama
Side Rails / Cotés de lit / Largueros laterales

A///%

Z
x1 RS786-272-LEGR-Right Leg * x1 RS786-272-LEGL-Left Leg *
Pattee de droite Pattee de gauche
Pata derecha Pata izpuierda

X10 RS786-271-SULEG-Support Leg 8% X5 RS786-271-SLAT- Slat %
Pattes de supports Lattes
Patas de apoyo de listones Listones
xB R8786-400-HWKIT-Hardware kit list *

Liste des piéces de quincailles
Lista del kit de materiales

x1 R8786-272-HWKIT-Hardware kit list *
Liste des pléces de quincallles
Lista del kit de materiales

got

X2 R8786-272-TOUCH - Touch L meta *
Touche
Toque

Xx10 RC-FG-WHITE-White leveler *
Patin ré glable
Nivelador

B

x10 RS786-271-SCREW-Wood Screw *
Vis & bois
Tomillo para madera

x1 RS786-272-FURN - Fumlite *
Fumlite

x4 RC-WH-NAIL- White Plastic nail *
clou en plastique
clavo de pldstico

*%k Replaceable Part

Page 3 of 3

Residential Use Only

Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www. myfurnitureinstructions.com



PARTS LIST / LISTE DES PIECES / LISTA DE PIEZA

ITEM / NO D'ARTICLE / ARTICULO.: S786-252/251/400

DESCRIPTION / DESCRIPCION : Headboard / Téte de lit / Cabecera
Footboard / Pied de lit / Pie de cama
Side Rails/ Cotés de lit / Largueros laterales

7

x1 Headboard x2 Headboard Legs (Left & Righty 3k x1 Footboard X2 Side Rails

x1 Téte de lit x2 Pattes de la téte de lit (gauche et droite) x1 Pied de lit x2 Ctés de lit

x1 Cabecera x2 Patas de cabecera (izquierda y derecha) x1 Pie de cama x2 Largueros laterales
x5Slats 3k - x5 SupportLegs 3K X6 Allen bolt @#5/16 * 2" sk x14 Lock washer &m\\_mjm.m:._u_._ %
x5 Lattes x5 Pattes de support X6 Vis a téte creuse hexagonale @5/16 * 2" x14 Rondelle de blocage 2/5/16 :.w*mwss
x5 Listones x5 Patas de soporte X6 Perno Allen @5/16 * 2" x14 Arandela de Seguridad @5/16™13*2mm

<

@
®

x14 Flat washer @5/16™19*2mm K xB Hanger bolt @5/16™3-1/2" 3K x1 Allen key M4 3K X8 Hex nut 12*12*6mm 3¢
x14 Rondelle plate @5/16™19*2mm x8 Boulon-vis @5/16"*3-1/2" x1 Clé hexagonale x8 Ecrou hexagonal 12*12*6mm
x14 Arandela plana @5/16™19*2mm x8 Pemno de suspension @5/16™3-1/2" x1 Liave Allen x8 Tuerca hexagona 2*12*6mm

N,

W
@

)
*1

x1 Open wrench 12mm 3k x10 Wood Screw #8*30mm %k
x1 Clé a fourche 12mm x10 Vis & bois #8*30mm
x1 Llave de boca 12mm x10 Tomnillo para madera #8*30mm
*%k Replaceable Part
Page 1 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietham

For further assembly information, please go to www. myfurnitureinstructions.com



ASSEMBLY INSTRUCTION / NOTICE DE MONTAGE / INTRUCCIONES DE MONTAJE
ITEM / NO D'ARTICLE / ARTICULO.: S786-252/251/400

DESCRIPTION / DESCRIPCION : Panel Headboard / Téte de lit / Cabecera

Footboard / Pied de lit / Pie de cama

Side Rails/ Cotés de lit / Largueros laterales

Left Leg
Patte de gauche
Pata izquierda w

Touch me

he touch switch allows the light to turn on
Le commutateur tactile allume la lampe . m._.m_u 2
au premier contact ETAPE 2

El interruptor tactil permite encender la luz

PASO 2

w_mnﬁ _msn o Touch me
al e droll . .
Pata derech The touch switch allows the light to turn on "\
i ? Le commutateur tactile allume la lampe A
m au premier contact
El interruptor tactil permite encender la luz
STEP 1
ETAPE 1
PASO 1 STEP 3
ETAPE 3
PASO 3 i
ETAPE 4
F PASO 4
%k Replaceable Part
Page 2 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM / NO D'ARTICLE / ARTICULO.: S786-252/251/400
DESCRIPTION / DESCRIPCION : Panel Headboard / Téte de lit / Cabecera

Footboard / Pied de lit / Pie de cama

Side Rails/ Cotés de lit / Largueros laterales

2
* x10 RS786-251-SCREW-Wood Screw *
x1 RS786-252-LEGR-Right Leg * x1 RS786-252-LEGL-Left Leg * x1 R8786-252-HWKIT-Hardware kit list Vis & bois
Pattee de droite Pattee de gauche Liste des pléces de quincallles Tomillo para madera
Pata derecha Pata izpuierda Lista del kit de materiales
=1 ‘
x10 RS786-251-SULEG-Support Leg * x5 RS786-251-SLAT- Slat * x2 R8786-252-TOUCH - Touch L meta * x1 RS786-252-FURN - _u::.__m.ﬁ *
Pattes de supports Lattes Touche Fumitte
Patas de apayo da listones Listones Toque
x8 R8786-400-HWKIT-Hardware kit list *
Liste des piéces de quincailles x5 RC-FG-WHITE-White leveler * x4 RC-WH-NAIL- White Plastic nail *
Lista del kit de materiales Patin ré glable clou en plastique
Nivelador clavo de plastico
*%k Replaceable Part
Page 3 of 3 Residential Use Only Made In Vietnam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to www. myfurnitureinstructions.com



	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)
	AI S786 Model (1)

